EAST POINT SCHOOL
CLASS- VI
STUDY MATERIAL
WEEK 1

ENGLISH

Transitive and Intransitive verbs
Video Link:- https://www.youtube.com/watch?v=owCCnPNPzhw

Learning Objective:-

» To be able to recognize whether a verb is used transitively or intransitively in a
sentence.

> To identify the direct object of the transitive verb in a sentence.

A transitive verb is one that is used with an object: a noun, phrase, or pronoun that

refers to the person or thing that is affected by the action of the verb. In the following
sentences, admire, maintain, face, and love are transitive verbs:

| admire your courage.

We need to maintain product quality.

I couldn't face him today.

She loves animals.

Some transitive verbs can be used with a direct object and an indirect object:

Liz brought  Her a glass of water.
[indirect object] [direct object]
He sent Her a letter.

[indirect object] [direct object]


https://www.youtube.com/watch?v=owCCnPNPzhw
https://www.lexico.com/grammar/subjects-and-objects
https://www.lexico.com/grammar/word-classes/nouns
https://www.lexico.com/grammar/phrases
https://www.lexico.com/grammar/pronouns
https://www.lexico.com/grammar/subjects-and-objects
https://www.lexico.com/grammar/subjects-and-objects

Here is a short list of some common verbs that can take a direct and indirect object:

Verb Example

Give Pat gave me a book for my birthday.

Buy Can | buy you a drink?

Pass Paul passed her a cup of coffee.

Make Shall | make us some lunch?

Sell Jenny was trying to sell me her car.

Take We took Maria some flowers and wine.
Show Show me your holiday photos.

Offer The company has offered me a job.

Leave Leave me a message and I'll get back to you.
Wish Everyone wished us all the best for the future.
Lend Could you lend me £20?

Cost Ben’s mistake cost him his job.

Intransitive verbs

An intransitive verb does not have an object. In the following
sentences, cry, work, laugh, and talk are intransitive verbs:

The baby was crying.

| work for a large firm in Paris.

They laughed uncontrollably.

We talked for hours.




Transitive and intransitive verbs

Many verbs can be transitive or intransitive. For example:

The choir sang carols. [transitive]

Pete always sings in the bath. [intransitive]

She left London on June 6. [transitive]

| want to leave early. [intransitive]

Here is a short list of some common verbs that can be transitive or intransitive:

restaurant.

Verb Transitive Intransitive

Move Could you move your car The trees were moving in the breeze.
please?

Start Taylor was found guilty The match starts at 3 p.m.
of starting the fire.

Change Marriage hasn’t changed her. The area’s changed greatly in the last

decade.

Close Close your eyes,; I've got a Most shops here close at 5.30 p.m.
surprise for you.

Open Open the window; it's too hot The museum opens at 10 a.m.
(n here!

Stop Greg tried to stop her from When the rain stopped, we went for a
leaving. walk.

Do Have you done your Joe’s doing well in his new job.
coursework?

Set Kate set a chair next to the The sun was setting and a red glow
bed. filled the sky.

Run Michelle used to run a The path ran over the hill.




Live Our cat lived till he was 10. He was living a life of luxury abroad.

Wash Have you washed your | washed, dressed, and went out.
hands?

Write Write your name here. Kevin couldn't read or write.

Choose the correct option and state the reason for selecting that option:-

1. She advised me to consult a doctor.

Transitive

Intransitive

2. Let’s invite your cousins as well.

Transitive

Intransitive

3. | waited for an hour.

Transitive

Intransitive

4. | received your letter in the morning.

Transitive

Intransitive

5. I am going to send her some flowers.

Transitive

Intransitive




6. He has changed a lot since he got married.

Transitive

Intransitive

7. Suddenly the child woke up.

Transitive

Intransitive

8. The loud noise woke me.

Transitive

Intransitive

9. Let’s discuss your plans.

Transitive

Intransitive

10. I heard a lovely song in the morning.

Transitive
Intransitive
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Video link for the reference: Algebraic Expressions | Class 7 | Maths| CBSE |
ICSE | FREE Tutorial - Bing video

Constant
Constant is a quantity which has a fixed value.
Terms of Expression

Parts of an expression which are formed separately first and then added are known
as terms. They are added to form expressions.

Example: Terms 4x and 5 are added to form the expression (4x +5).


https://www.bing.com/videos/search?q=EXTRA+QUESTIONS+OF+CHAPTER-+ALGEBRAIC+EXPRESSIONS+CLASS+VII+MATHS&&view=detail&mid=1932792A9BEEF3F513C91932792A9BEEF3F513C9&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DEXTRA%2BQUESTIONS%2BOF%2BCHAPTER-%2BALGEBRAIC%2BEXPRESSIONS%2BCLASS%2BVII%2BMATHS%26FORM%3DHDRSC4
https://www.bing.com/videos/search?q=EXTRA+QUESTIONS+OF+CHAPTER-+ALGEBRAIC+EXPRESSIONS+CLASS+VII+MATHS&&view=detail&mid=1932792A9BEEF3F513C91932792A9BEEF3F513C9&&FORM=VRDGAR&ru=%2Fvideos%2Fsearch%3Fq%3DEXTRA%2BQUESTIONS%2BOF%2BCHAPTER-%2BALGEBRAIC%2BEXPRESSIONS%2BCLASS%2BVII%2BMATHS%26FORM%3DHDRSC4

Coefficient of a term

The numerical factor of a term is called coefficient of the term.
Example: 10 is the coefficient of the term 10xy in the expression 10xy+4y.

Writing Number patterns and rules related to them

If a natural number is denoted by n, its successor is (n + 1).
Example: Successor of n=10 is n+1 =11.

If a natural number is denoted by n, 2n is an even number and (2n+1) an odd
number.

Example: If n=10, then 2n = 20 is an even number and 2n+1 = 21 is an odd
number.

Definition of Variables

Any algebraic expression can have any number of variables and constants.

Variable
A variable is a quantity that is prone to change with the context of the situation.

a,x,p,... are used to denote variables.

Constant
It is a quantity which has a fixed value.
In the expression 5x+4, the variable here is x and the constant is 4.

The value 5x and 4 are also called terms of expression.



In the term 5x, 5 is called the coefficient of x. Coefficients are any numerical factor
of a term.

Factors of a term

Factors of a term are quantities which can not be further factorised. A termis a
product of its factors.
Example: The term —3xy is a product of the factors —3, x and y.

Formation of Algebraic Expressions
Variables and numbers are used to construct terms.

These terms along with a combination of operators constitute an algebraic
expression.

The algebraic expression has a value that depends on the values of the variables.

For example, let 6p?>—3p+5 be an algebraic expression with variable p
The value of the expression when p=2 is,

6(2)>—3(2)+5

=6(4)—-6+5=23

The value of the expression when p=1is,

6(1)>°—3(1) +5

>6-3+5=8

Like and Unlike Terms
Like terms

Terms having same algebraic factors are like terms.
Example: 8xy and 3xy are like terms.

Unlike terms

Terms having different algebraic factors are unlike terms.
Example: 7xy and —3x are unlike terms.



Monomial, Binomial, Trinomial and Polynomial Terms
Types of expressions based on the number of terms
Based on the number of terms present, algebraic expressions are classified as:

Monomial: An expression with only one term.
Example: 7xy, —5m, etc.

Binomial: An expression which contains two, unlike terms.
Example: 5mn+4, x+y, etc

Trinomial: An expression which contains three terms.
Example: x+y+5, a+b+ab, etc.

Polynomials

An expression with one or more terms.
Example: x+y, 3xy+6+y, etc.

Addition and Subtraction of Algebraic Equations

Mathematical operations like addition and subtraction can be applied to algebraic
terms.

For adding or subtracting two or more algebraic expression, like terms of both the
expressions are grouped together and unlike terms are retained as it is.

Sum of two or more like terms is a like term with a numerical coefficient equal to
the sum of the numerical coefficients of all like terms.

Difference between two like terms is a like term with a numerical coefficient equal
to the difference between the numerical coefficients of the two like terms.



For example, 2y + 3x — 2x + 4y
= X(3-2) + y(2+4)
= X+6y

Summation of algebraic expressions can be done in two ways:
Consider the summation of the algebraic expressions 5a%+7a+2ab and 7a?+9a+11b

Horizontal method
5a’+7a+2ab+7a%+9a+11b

= (5+7)a*+(7+9)a+2ab+11b
= 12a%+16a+2ab+11b

Vertical method
5a%+7a+2ab
7a°+9a+11b

12a%+16a+2ab+11b

Q1.

Identify in the given expressions, terms which are not constants. Give their numerical coefficients.
(i)5x-3

(i) 11— 2y?

(i) 2x -1

(iv) 4x%y + 3xy? -5

Q2.

Group the like terms together from the following expressions:

-8x%y, 3x, 4y, —32x , 2x?y, -y

Qs.

Identify the pairs of like and unlike terms:

(i) —32x,y



(ii) X, 3x
(iiii) ~12y2x, 32xy?
(iv) 1000, -2

Q4.

Classify the following into monomials, binomial and trinomials.

(i) -6
(ii) -5+ x
(iii) 32x -y

(iv) 6x% +5x — 3

(V)2 +2

Q5.

Draw the tree diagram for the given expressions:
(i) -3xy + 10

(i) x> +y?

Q6.

Identify the constant terms in the following expressions:
(i) -3 +32x

(ii) 32 — 5y + y?

(iii) 3x>+2y -1

Q7.

Add:

(i) 3x?y, -5x?%y, -x?y

(ija+b-3,b+2a-1

Q8.



Subtract 3x? — x from 5x — x°.

Q9.

Simplify combining the like terms:

(la—(@a-b)-b—(b—a)

(i) X2 = 3x + y? —x — 2y?

Q10.

Subtract 24xy — 10y — 18x from 30xy + 12y — 14x.

Q11.

From the sum of 2x? + 3xy — 5 and 7 + 2xy — x? subtract 3xy + x> — 2.

Q12.

Subtract 3x? — 5y — 2 from 5y — 3x? + xy and find the value of the result if x =2,y = -1.
Q13.

Simplify the following expressions and then find the numerical values for x = -2.
(i)3(2x—4) +x*+5

(ii) -2(-3x + 5) — 2(x + 4)

Q14.

Find the value of t if the value of 3x? + 5x — 2t equals to 8, when x = -1.

Q15.

Subtract the sum of -3x3y? + 2x2y® and -3x%y® — 5y* from x* + x3y? + x%y% + y*

Air pressure

e The air around us exerts pressure. This is seen in the following activity:



o Atincan is filled with water heated over a flame. As soon as the water comes to a boil, the
lid is put and it is kept under running cold water. We find that the shape of the can gets
distorted.

o Inference: When cold water is poured over the can, some of the steam in the can condenses,
reducing the amount air inside the can. The air from outside compresses the can from
outside, thereby distorting it. This shows that air exerts pressure.

Wind Currents
wind
The natural motion of air, due to a current in a particular direction is called as wind.
Winds and pressure difference

e Increased wind speed is accompanied by reduced air pressure.

« Air moves from a region of high pressure to a region of low pressure.
Warm air and cool air

« On heating, air expands and rises up. Since it expands it takes up more space and therefore
becomes lighter.

e Warm air is lighter than the cool air. That is why smoke always rises up.

e Once warm air rises up, air pressure is lowered. Then the cold air from the surroundings
rushes in to fill its place.

Wind Currents

Wind current is a current of air, sometimes of considerable force, moving generally horizontally
from areas of high pressure to areas of low pressure.

Wind currents due to uneven heating of land and water

« Land gains and loses heat much faster than water. During summer winds move from cooler
seas towards the land which is hotter. These winds carry moisture and cause monsoons.

« During winter this direction of wind flow is reversed and it moves from land towards the
oceans.

Rain



Rains are caused when winds from the oceans and seas flow towards land carrying moisture. The
moisture in the clouds get saturated after a point and pour down as showers, which we call as
monsoons.

Storms and Cyclones
Wind Currents Due to Uneven Heating between the Equator and the Poles

e The regions in the proximity to the equator receive the highest amount of heat from the
sun, and the warm air rises up. The air from latitudes 0-30° moves in from north and south
to take its place.

« Similarly, the air at the poles is much cooler than the air around latitudes of 60° which is
comparatively warmer. This warmer air rises up while the cool air from the poles races
inside to occupy its place. Subsequently, wind currents move from poles to warmer
latitudes due to uneven heating of the earth’s surface.

Thunderstorms

Thunderstorms develop in areas that are very hot and humid like India. The high temperatures
create strong upward currents that carry water vapour to high altitudes where they condense and
fall down again. Due to such drastic pressure variations, they are accompanied by lightning and
strong winds.

Thunderstorm to Cyclone Conversion

e During a thunderstorm, water releases heat when it changes from vapour to rain in the
atmosphere. This warms the air around and creates a drop in pressure.

e This causes air to rush in towards the centre of the storm. This cycle causes large low-
pressure systems accompanied by strong high-speed winds that swirl around it. This is the
formation of a cyclone.

Cyclone
e Acyclone is a large mass of air that rotates violently about 1015 km high in the air.
e The centre of the cyclone is a calm area called as the eye of the storm.
Structure of a Cyclone
e The centre of a cyclone is a calm area called the eye. It has a diameter of about 10 — 30 km.

« Around the eye is a region of clouds of about 150 km. This also has winds with speeds of
up to 150-250 km/hr.



o The speed of the wind gradually decreases as it moves away from the eye.
Types of Cyclones

Cyclones are given different names in different parts of the world. They are called as hurricanes
in the American continent and as typhoons in Japan.

Tornado

e A tornado occurs within a cyclone. It is in shape of a rotating funnel that sucks in debris,
dust and everything at the bottom and throws them out at the top.

o Its diameter ranges from a metre to a kilometre with speeds of up to 300 km/hr.
Coriolis Effect

The force due to earth’s rotation that tries to deflect winds towards left or right is known as Coriolis
effect.

Safety Measures and Role of Advanced Technology
Steps to follow if a storm is followed by lightning
o Avoid taking refuge under isolated trees.
« Ifinaforest, seek shelter under a small tree
e Do not lie on the ground
« Do not try taking cover under an umbrella
e Avoid sitting near metal sheds or open garages
o If in water, rush out and go inside a building
e Acarorabus is a safe place to take cover.
Measures of safety from tornados
e Cyclone forecast and warning system.
« Rapid warning systems to Governments and fishermen and people in prone zones.
o Construction of cyclone shelters and rapid evacuation schemes.
e Avoiding fallen power lines.

o Cooperation with others and rescue team



S.SCIENCE

How the State Government Works?

Learning Objective: Students will learn about the three levels of government and the
works of State govt.

Video Link: https://www.youtube.com/watch?v=gsIR6Q4LR1U

Government works at three levels-national, states and nearby.

e Instates, it is the MLA (Member of Legislature Assembly) who speaks to the general population.

e MLAs enter the gathering and shape the administration.

o Every MLA is chosen from one region. This region is known his body electorate.

e A political gathering whose MLA's won the greater part the quantity of bodies’ electorate in the state
get larger part. The political party is known as the decision party.

« All alternate individuals are called resistance.

Working of the Government:

i.  the leader of the state is the Governor while the leader of the administration comprises of the committee

of priests headed by the Chief Minister.

ii.  The pioneer of decision party who frames the legislature is the Chief Minister.

iii.  Allthe MLA's sit in a place called the Legislative Assembly.

iv.  The authoritative gathering is where pioneers wrangle about and examine on critical issues and make
essential bills.

v.  Notwithstanding authoritative get together, question and answer session is likewise a method of
comprehending what the administration improves the situation the general population.

vi.  The administration works through different offices like open works division, farming, wellbeing and

instruction.

vii.  The administration has the ability to make new laws for the state with respect to wellbeing and
sanitation.

viii.  Laws for the state are made by the state administrative get together.

iX.  Laws for the nation are made by the Union Parliament.

WORKSHEET
1. Who appoints the Governor of a state?
1)
2. Define the following terms: -
2)

a) Legislative Assembly
b) Constituency
3. The government works at three levels. Name them.

(1)


https://www.youtube.com/watch?v=gsIR6Q4LR1U

4. What do you mean by an MLA? Is it necessary to become a member of any political party to
become a MLA?

3)

5. What is role of the party that does not form government?

3)

6. Why should decisions taken by the Chief Minister and other ministers be debated in the
Legislative Assembly?
3

7. How did some MLAs become Ministers? Explain.

()

Fill in the blanks

1. MLA stands for .

2. is a particular area from where all the voters living there choose their
representatives.

3. All MLAs (from the ruling party/opposition) meet and discuss things is the

4. Each state is divided into different areas or

Match Columns

Columni Columnlli
(i) Chief Minister (a) Head of State
(i) Discussion of Issues (b) Legislature
(iii) MLAs (c) Press Conference

(iv) Governor (d) Executive

Tick the correct answer: -
1. The overall head of the government in a state is the

Prime Minister
Governor
Chief Minister
President

o N oTow



____appoints the Chief Minister and other ministers

President

Former Chief Minister
Prime Minister
Governor

o0 oTow

3. The Chief Minister is a part of the

Legislature
Executive
Judiciary

none of the above

o0 oo
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